
"X ¶w{ZH$ A°H°$S>‘r'

141	 PSI-STI-ASO-SR/IS - g§¶wº$ nyd© narjm 2023 Vo 2012

1.	 gw§Xa~Zg§~§YrMr Imbrb {dYmZo nhm : 
(a)	 Vo ^maV Am{U ~m§½bmXoemV ngabobo Amho. 
(b)	 Ë`mMm 60% ^mJ ^maVmV Amho. 
(c)	 24 naJUm (X{jU) dZ {d^mJ gw§Xa~ZMm ^mJ Amho. 
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV? 
Imbrb n`m©`m§‘YyZ `mo½` n`m©` {ZdS>m : 
(1)	 ’$º$ (a) ~amo~a Amho.
(2)	 ’$º$ (b) Am{U (c) ~amo~a AmhoV. 
(3)	 ’$º$ (a) Am{U (c) ~amo~a AmhoV. 
(4)	 darbn¡H$s H$moUVmhr n`m©` ~amo~a Zmhr

�� Consider the following statements about Sundarban. 
(a)	 It is spread across India and Bangladesh. 
(b)	 60% of its area lies in India. 
(c)	 24 Parganas (South) Forest Division is part of 

Sundarban. 
Which of the above statements are true ? 
Choose the correct option from the following options.
(1)	 Only (a) is correct.
(2)	 Only (b) and (c) are correct. 
(3)	 Only (a) and  (c) are correct. 
(4)	 None of the above

2.	 am. qM. T>oao `m§Zr H$moUVo J«§W {b{hbo AmhoV? 
(a)	 MH«$nmUr	 (b)	 {Ì{dYm 
(c)	 b‚mmJm¡ar	 (d)	 {d{MÌm
n`m©`r CÎmao : 
(1)	 ’$º$ (a), (b), (c)	 (2)	 ’$º$ (a), (b), (d) 
(3)	 ’$º$ (a), (c), (d)	 (4)	 ’$º$ (b), (c), (d) 

�� Which books are written by R. C. Dhere ? 
(a)	 Chakrapani	 (b)	 Trividha 
(c)	 Lajja Gouri	 (d)	 Vichitra
Answer options : 
(1)	 Only (a), (b), (c)	 (2)	 Only (a), (b), (d) 
(3)	 Only (a), (c), (d)	 (4)	 Only (b), (c), (d)

3.	 "AÊdó V§ÌkmZ {Z`§ÌU {Z`‘' (E‘.Q>r.gr.Ama.) 
JQ>m~m~VÀ`m {dYmZm§Mm {dMma H$am.
(a)	 OyZ 2016 ‘Ü`o ^maV `m JQ>mMm gXñ` Pmbm.
(b)	 `m JQ>mV 35 amï´>o g^mgX AmhoV.
(c)	 àW‘M ^maVmMm g‘mdoe Aem Am§Vaamï´>r` ñVamdarb 

{Z`m©V {Z`§ÌU JQ>mV Pmbm Amho.
(d)	 jonUmóo Am{U d¡‘m{ZH$ {da{hV {d‘mZm§À`m V§ÌkmZ 

àgmamda {Z`§ÌU R>odUo hm ̀ m JQ>mMm gdm©V ‘w»` CÔoí` Amho.

darbn¡H$s H$moUVr {dYmZo ~amo~a Amho/AmhoV?
(1)	 Ho$di (a) Am{U (b)	 (2)	Ho$di (a) Am{U (c)
(3)	 Ho$di (a) Am{U (d)	 (4)	gd©

�� Consider the statements about "Missile Technology 
Control Regime' (MTCR) group.
(a)	 India became the member of the group in June 2016.
(b)	 35 countries are members of this group.
(c)	 It is the first time that India has been included in 

such an International level export controlling group.
(d)	 The prime aim of the group is to control the spread 

of missiles and pilotless aeroplane technology.
�� Which of the statements given above is/are correct?

(1)	 (a) and (b) only	 (2)	 (a) and (c) only
(3)	 (a) and (d) only	 (4)	 All

4.	 Am`.Eg.Ama.Amo. åhUOo : 
(1)	 B§{S>`Z ñQ>oQ²g [agM© Am°J©Zm`PoeZ 
(2)	 B§Q>aZ°eZb ñnog [aOZb Am°J©Zm`PoeZ 
(3)	 B§Q>aZ°eZb gm`§Q>r{’$H$ [agM© Am°J©Zm`PoeZ 
(4)	 B§{S>`Z ñnog [agM© Am°J©Zm`PoeZ

�� ISRO stands for :
(1)	 Indian States Research Organisation
(2)	 International Space Regional Organisation
(3)	 International Scientific Research Organisation
(4)	 Indian Space Research Organisation

5.	 `mo½` H$WZo AmoiIm : 
(a)	 `wamo{n`Z `w{Z`ZMo ‘w»`mb` ~«wgoëg `oWo Amho. 
(b)	 {~«Q>Z 1970 ‘Ü`o ̀ wamo{n`Z ̀ w{Z`Z‘Ü`o gh^mJr Pmbm. 
(c)	 H$moQ>© Am°’$ OpñQ>g d `wamo{n`Z H${‘eZ øm B. `w. À`m 

Cng§ñWm AmhoV. 
n`m©`r CÎmao : 
(1)	 ’$º$ (a), (b)	 (2)	 ’$º$ (a), (c) 
(3)	 ’$º$ (b), (c)	 (4)	darb gd©

�� Select the correct statements : 
(a)	 The headquarters of European Union are at Brussels. 
(b)	 Britain joined the European Union in 1970. 
(c)	 Court of Justice and European Commission are 

sub-institutions of EU. 
Answer options : 
(1)	 Only (a), (b)	 (2)	 Only (a), (c) 
(3)	 Only (b), (c)	 (4)	 All of the above

6.	 H¡$. am‘M§Ð qMVm‘U T>oao ̀ m§À`m ~m~VÀ`m {dYmZm§Mm {dMma H$am. 
(a)	 Ë`m§Zr bmoH$gm{hË`, àmMrZ gm{hË` ̀ m§Mm Aä`mg Ho$bm. 

{dH«$sH$a {ZarjH$ (nyd©) narjm - 2016
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(b)	 "gm{hË` {demaX' Am{U "amï´>^mfm àdrU' `m narjm Vo 
CÎmrU© Pmbo. 

(c)	 "gm{hË` AH$mX‘r nwañH$mam' Zo gÝ‘m{ZV H$aÊ`mV Ambo 
hmoVo. 

(d)	 "lr Z¥qgh - CX` Am{U {dH$mg' `m Ë`m§À`m AIoaÀ`m 
nwñVH$mÀ`m àH$meZmnydu Ë`m§Mm ‘¥Ë`w Pmbm. 

darb {dYmZm§n¡H$s H$moUVr {dYmZo ~amo~a AmhoV? 
(1)	 Ho$di (a) Am{U (b)	 (2)	Ho$di (a) Am{U (c) 
(3)	 Ho$di (a) Am{U (d)	 (4)	gd© 

�� Consider the statements about late 'Ramchandra 
Chintaman Dhere'. 
(a)	 He studied the folk literature, ancient literature. 
(b)	 He passed the 'Sahitya Visharath' and 

'Rashtrabhasha Pravin' examinations. 
(c)	 Received 'Sahitya Academy Puraskar'. 
(d)	 Died before publication of his last book 'Shree 

Nrusinha - Uday and Vikas'. 
�� Which of the above statements are correct ? 

(1)	 (a) and (b) only	 (2)	 (a) and (c) only 
(3)	 (a) and (d) only	 (4)	 All

7.	 Oå‘y Am{U H$mí‘raÀ`m n{hë`m ‘{hbm ‘w»`‘§Ìr H$moU?
(1)	 a{P`m gwbVmZ	 (2)	‘oh~w~m ‘wâVr 
(3)	 {hZm ^Å>	 (4)	eoI hgrZm 

�� Who is the first woman Chief Minister of Jammu 
and Kashmir ? 
(1)	 Razia Sultan	 (2)	 Mehbooba Mufti 
(3)	 Hina Bhatt	 (4)	 Sheikh Hasina

8.	 h[a`mUmVrb Am§Vaamï´>r` »`mVrMm JwaJmd hm {Oëhm gÜ`m 
...... `m ZmdmZo AmoiIbm OmVmo. 
(1)	 JmS>oJmd	 (2)	JwéYm‘ 
(3)	 JwéJ«m‘		 (4)	JwéX{jUm 

�� Haryana's internationally famous district Gurgaon 
is currently known as ......
(1)	 Gadegaon	 (2)	 Gurudham 
(3)	 Gurugram	 (4)	 Gurudakshina

9.	 {X. 21/10/2015 amoOr, Omhra Pmbobo, 2012 - 13 Mr 
"{edN>ÌnVr nm[aVmo{fHo$' d Ë`m§Mo àmáH$V} `m§Mr OwiUr H$am: 
(a)	 "OrdZ Jm¡ad' 	 (i)	 amhr gaZm¡~V 
(b)	 Zo‘~mOr	 (ii)	 a‘oe {dnQ> 
(c)	 {OåZ°ñQ>rH$ 	 (iii)	Z§{XZr ~m|JmS>o 
(d)	 {OOm‘mVm' 	 (iv)	 amo‘m OmoJioH$a
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (i) 	 (iv) 	 (iii)
(2)	 (iii)	 (iv) 	 (i) 	 (ii) 
(3)	 (iv) 	 (iii) 	 (ii) 	 (i) 
(4)	 (i)	 (ii)   (iii)    (iv)

�� Match the 'Shivchhatrapati Awards' of 2012 - 13, 
declared on 21/10/2015, and recipients: 
(a)	 'Jeevan Gaurav'	 (i)	 Rahi Sarnaubat 
(b)	 Shooting	 (ii)	 Ramesh Vipat 
(c)	 Gymnastic 	 (iii)	 Nandhini Bongade
(d)	 'Jeejamata'	 (iv)	 Roma Jogalekar
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (i) 	 (iv) 	 (iii)
(2)	 (iii)	 (iv) 	 (i) 	 (ii) 
(3)	 (iv) 	 (iii) 	 (ii) 	 (i) 
(4)	 (i)	 (ii)   (iii)    (iv)

10.	 `mo½` H$WZ/H$WZo AmoiIm :
(a)	 [aAmo Am°{bpånH$‘Ü`o 207 g§K gh^mJr Pmbo.
(b)	 [aAmo Am°{bpånH$ gm‘Ý`m§À`m CX²KmQ>Z g‘ma§^mV 

hdm‘mZ ~Xb `m {df`mda MMm© H$aÊ`mV Ambr.
(c)	 31 ì`m Am°{bpånH$ IoimMo Am`moOZ ~«mPrb‘Ü`o 

H$aÊ`mV Ambo. 
n`m©`r CÎmao : 
(1)	 ’$º$ (a), (b)	 (2)	 ’$º$ (a), (c) 
(3)	 ’$º$ (b), (c)	 (4)	darbn¡H$s gd©

�� Select the correct statement/statements : 
(a)	 207 teams participated in Rio Olympics. 
(b)	 During the inauguration ceremony of Rio Olympics 

the issue of climate change was discussed. 
(c)	 31st Olympic games organised in Brazil.
Answer options : 
(1)	 Only (a), (b)	 (2)	 Only (a), (c) 
(3)	 Only (b), (c)	 (4)	 All of the above

11.	 88 ì`m AH$mX‘r Adm°S>©‘Ü`o "Am°ñH$a nm[aVmo{fH$' {dOoVo 
{MÌnQ> d Ë`m§Mo àH$ma `m§Mr OwiUr H$am :
(a)	 gdm}ËH¥$ï> naH$s` ^mfm {MÌnQ> 	 (i)	 E‘r
(b)	 gdm}ËH¥$ï> A°{Z‘oQ>oS> bKw {MÌnQ> 	 (ii)	 gZ Am°’$ gm°B©b
(c)	 gdm}ËH¥$ï> A°{Z‘oQ>oS> {’$Ma	 (iii)	~oAa ñQ>moar
(d)	 gdm}ËH¥$ï> AZw~moYnQ>	 (iv)	BZgmBS> AmCQ> 
n`m©`r CÎmao :
		 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (iii) 	 (iv) 	 (i)
(2)	 (i)	 (ii) 	 (iii) 	 (iv) 
(3)	 (iii) 	 (iv) 	 (i) 	 (ii) 
(4)	 (iv)	 (i)    	 (ii)    (iii) 

�� Match the 'Oscar' winner films and their categories 
in 88th Academy Awards : 
(a)	 Best Foreign Language Film	 (i)	 Amy 
(b)	 Best Animated Short Film	 (ii)	 Son of Soil
(c)	 Best Animated Feature	 (iii)	 Bear Story
(d)	 Best Documentary Feature	 (iv)	 Inside Out
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (iii) 	 (iv) 	 (i)
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(2)	 (i)	 (ii) 	 (iii) 	 (iv) 
(3)	 (iii) 	 (iv) 	 (i) 	 (ii) 
(4)	 (iv)	 (i)    (ii)    (iii)

12.	 Owb¡ 2016 ‘Ü`o Imbrbn¡H$s H$moUr Amnë`m amÁ`g^m 
gXñ`ËdmMm amOrZm‘m {Xbm? 
(1)	 ZdÁ`moV qgJ {gÕÿ	 (2)	 Za|Ð OmYd 
(3)	 S>m°. gw~«÷Ê`‘ ñdm‘r	 (4)	N>ÌnVr lr. g§^mOr emhÿ 

�� In July 2016 who among the following resigned 
from Rajyasabha membership? 
(1)	 Navjoyta Singh Siddhu 
(2)	 Narendra Jadhav 
(3)	 Dr. Subrahmaniam Swamy 
(4)	 Chhatrapati Sri Sambhaji Shahu

13.	 2014 Vo 2016 `m H$mbmdYrV H$mobH$mVm Cƒ Ý`m`mb`mMo 
‘w»` Ý`m`mYre H$moU hmoVo? 
(1)	 gwOmVm ‘Zmoha	 (2)	 S>m°. ‘§Owim Mo„za 
(3)	 S>m°. aOZr nQ>ob	 (4)	 S>m°. {H$aU Ahbwdm{b`m 

�� Who was the Chief Justice of Kolkata High Court 
from 2014 to 2016 ? 
(1)	 Sujata Manohar	 (2)	 Dr. Manjula Chellur 
(3)	 Dr. Rajni Patel	 (4)	 Dr. Kiran Ahluvalia

14.	 "VoOg' ~m~V nwT>rbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
(1)	 ñdXoer ~ZmdQ>rMo bT>mD$ {d‘mZ Amho. 
(2)	 B. g. 2003 ‘Ü`o VËH$mbrZ n§VàYmZ AQ>b {~hmar 

dmOno`r `m§Zr "VoOg' Ago Zm‘H$aU Ho$bo. 
(3)	 Ë`mMm n„m 3000 {H$bmo‘rQ>aMm Amho.
(4)	 Vo "{‘J-27' `m bT>mD$ {d‘mZmMr OmJm KoB©b.

�� Which of the following statement is not correct 
about 'Tejas'?
(1)	 Fighter plane made in India. 
(2)	 Was named as 'Tejas' in 2003 by the then Prime 

Minister Atal Bihari Bajpeyi. 
(3)	 It has a range of 3000 kilometers. 
(4)	 It will replace 'Mig-27' fighter aeroplane.

15.	 Am°pëdZ Q>m°’$ba `m§Zr H$moUVo J«§W {bhrbo Amho?
(a)	 â`wMa em°H$	 (b)	 nm°da {eâQ>
(c)	 WS>© doìh	 (d)	 â`wMa dëS>©
n`m©`r CÎmao :
(1)	 ’$º$ (a), (b), (c)	 (2)	 ’$º$ (a), (b), (d)
(3)	 ’$º$ (a), (c), (d)	 (4)	 ’$º$ (b), (c), (d)

�� Which books are written by Alvin Toffler ?
(a)	 Future Shock	 (b)	 Power Shift
(c)	 Third Wave	 (d)	 Future World
Answer options :
(1)	 Only (a), (b), (c)	 (2)	 Only (a), (b), (d)
(3)	 Only (a), (c), (d)	 (4)	 Only (b), (c), (d)

16.	 ^maVr` amÁ`KQ>ZoZo {Z{íMV Ho$bobr amÁ` {dYmZg^oMr 
OmñVrV OmñV g^mgX g§»`m {H$Vr Amho?

(1)	 550	 (2)	 250	 (3)	 100	 (4)	 500
�� What is the maximum number of members in a 

State Legislative Assembly fixed by the Indian  
Constitution?
(1)	 550	 (2)	 250	 (3)	 100	 (4) 	 500

17.	 naH$s` ì`º$s¨Zm CnbãY Agbobo ‘yb^yV h¸$ Am{U 
Ë`mg§X^m©Vrb amÁ`KQ>ZoVrb H$b‘ `m§À`m OmoS>çm Owidm:
	       A		    ~
	 (‘yb^yV h¸$)		  (H$b‘) 
(a)	 H$m`Úmg‘moa g‘mZVm	 (i)	 H$b‘ 28 
(b)	 Or{dV Am{U ì`{º$JV 	 (ii)	 H$b‘ 14 
	 ñdmV§Í`mMo ajU  
(c)	 Ym{‘©H$ ñdmV§Í¶	 (iii)	H$b‘ 25 
(d)	 e¡j{UH$ g§ñWm§‘Ü`o Ym{‘©H$ {ejU	(iv)	H$b‘ 21
	 n`m©`r CÎmao :
		 (a) 	 (b) 	 (c)	 (d) 
(1)	 (i) 	 (ii) 	 (iii) 	 (iv)
(2)	 (ii)	 (iv) 	 (iii) 	 (i) 
(3)	 (iii) 	 (i) 	 (iv) 	 (ii) 
(4)	 (iv)	 (ii)    	 (i)       (iii) 

�� Match the following pairs regarding Fundamental 
Rights of foreigners and articles in the Constitution:
	          A		      B
	 (Fundamental Rights)		  (Articles)
(a)	 Equality before law	 (i)	 Article 28
(b)	 Protection of life and	 (ii)	 Article 14
	 personal liberty
(c)	 Freedom of Religion	 (iii)	 Article 25
(d)	 Religious Education in	 (iv)	 Article 21
	 Educational Institutions
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (i) 	 (ii) 	 (iii) 	 (iv)
(2)	 (ii)	 (iv) 	 (iii) 	 (i) 
(3)	 (iii) 	 (i) 	 (iv) 	 (ii) 
(4)	 (iv)	 (ii)    (i)    (iii)

18.	 OmoS>çm bmdm - ({dYmZ n[afX) :
	      A		       ~
(a)	 nXdrYa ‘VXmag§K	 (i)	 1/10 gXñ`
(b)	 {dYmZg^m gXñ`m§Ûmao {ZdS> 	 (ii)	 1/12 gXñ`
(c)	 amÁ`nmb {Z`wº$	 (iii)	 1/3 gXñ`
(d)	 n[afXoMr JUnyVu	 (iv)	 1/6 gXñ`
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (iii) 	 (iv) 	 (i)
(2)	 (iii)	 (iv) 	 (i) 	 (ii) 
(3)	 (iv) 	 (iii) 	 (i) 	 (ii) 
(4)	 (iv)	 (i)    (ii)    (iii)
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�� Match the pairs - (Legislative Council) :
	          A		         B
(a)	 Graduates Constituency	 (i)	 1/10 members
(b)	 Elected by Legislative	 (ii)	 1/12 members
	 Assembly members
 (c)	 Nominated by Governor	 (iii)	 1/3 members
 (d)	 Quorum of Council	 (iv)	 1/6 members
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (iii) 	 (iv) 	 (i)
(2)	 (iii)	 (iv) 	 (i) 	 (ii) 
(3)	 (iv) 	 (iii) 	 (i) 	 (ii) 
(4)	 (iv)	 (i)    (ii)    (iii)

19.	 73 ì`m KQ>ZmXwéñVr H$m`ÚmZwgma n§Mm`VamO g§ñWoÀ`m 
{ZdS>UwH$m bT>{dÊ`mgmR>r H$‘rV H$‘r {H$Vr d`mo‘`m©Xm 
Amdí`H$ Amho?
(1)	 25 df}	 (2)	18 df}
(3)	 21 df}	 (4)	30 df}

�� According to 73rd Constitutional Amendment Act, 
the minimum age for contesting the Panchayat Raj 
Elections is :
(1)	 25 years	 (2)	 18 years
(3)	 21 years	 (4)	 30 years

20.	 J«m‘n§Mm`VrÀ`m CËnÞmMr gmYZo H$moUVr?
(a)	 KanÅ>r, nmUrnÅ>r Am{U `mÌm H$a hr J«m‘n§Mm`VrÀ`m 

CËnÞmMr à‘wI gmYZo AmhoV.
(b)	 JmdmVyZ Jmoim Ho$boë`m O‘rZ ‘hgwbmVrb 30% dmQ>m 

J«m‘n§Mm`Vrbm {‘iVmo.
(c)	 {d{dY `moOZm§À`m A§‘b~OmdUrgmR>r amÁ`emgZ 

Ë`m§Zm AZwXmZ XoVo. 
`mo½` n`m©` {ZdS>m:
(1)	 (a), (b)	 (2)	 ’$º$ (b)
(3)	 (a), (c)	 (4)	darb gd©

�� What are the sources of income of the Gram 
Panchayat ?
(a)	 Main income sources of the Gram Panchayat are 

House Tax, Water Tax and Tax on Pilgrimages.
(b)	 It receives 30% share in the land revenue collected 

from the village.
(c)	 It receives grant from state Government for the 

implementation of various schemes.
Select correct option :
(1)	 (a), (b)	 (2)	 Only (b)
(3)	 (a), (c)	 (4)	 All the above

21.	 "amÁ` bmoH$godm Am`moJmÀ`m' ñdmV§Í`mMr ImÌr XoUmè`m 
VaVwXt~m~V H$moUVo {dYmZ ~amo~a Zmhr?
(1)	 AÜ`j Am{U g^mgXm§Mr {Z`wº$s amÁ`nmb H$aVmV. 
(2)	 Ë`m§À`m godmH$mimV ZwH$gmZH$maH$ hmoB©b AemàH$mao 

godm AQ>rV ~Xb H$aVm `oV Zmhr. 

(3)	 "Cƒ Ý`m`mb`mÀ`m Ý`m`mYremH$Sy>Z J¡adV©Zm' Mr 
Mm¡H$er hmoD$Z Amamon {gÕ Pmë`m{edm` nX‘wº$ H$aVm 
`oV Zmhr. 

(4)	 amÁ`nmb Xmofr AgUmè`mMr godm VmËnwaVr ñW{JV  
H$ê$ eH$VmV, na§Vw ~S>V’$r©Mm A{YH$ma ^maVmÀ`m 
amï´>nVrbm Amho. 

�� Regarding the provisions to ensure the independence 
of 'State Public Service Commission', which 
statement is not correct? 
(1)	 The Chairman and members are appointed by the 

Governor of state. 
(2)	 Conditions of service cannot be varied to their 

disadvantage during the term of service. 
(3)	 Cannot be removed on the charge of "Misbehaviour' 

unless investigated and proved guilty by a 'High 
Court Judge'. 

(4)	 Governor can suspend the guilty but dismissing 
authority is President of India.

22.	 `mo½` H$WZ/H$WZo AmoiIm.
(a)	 42 ì`m KQ>ZmXwéñVrÛmao g§{dYmZm‘Ü`o ‘yb^yV H$V©ì`o 

g‘m{dï> H$aÊ`mV Ambr. 
(b)	 86 ì`m KQ>ZmXwéñVrÛmao g§{dYmZm‘Ü`o 11 do H$V©ì` 
(c)	 g‘m{dï> H$aÊ`mV Ambo. 
n`m©`r CÎmao : 
(1)	 ’$º$ H$WZ (a)
(2)	 ’$º$ H$WZ (b) 
(3)	 XmoÝhr H$WZo (a) Am{U (b) ~amo~a AmhoV 
(4)	 XmoÝhr H$WZo (a) Am{U (b) MwH$sMr AmhoV 

�� Select the correct statement/statements. 
(a)	 Forty second Constitutional Amendment added 

Fundamental Duties to the Constitution. 
(b)	 Eighty sixth Constitutional Amendment added 

eleventh duty  (K) to the Constitution.
Answer options : 
(1)	 Only statement (a)
(2)	 Only statement (b) 
(3)	 Both the statements (a) and (b) are correct 
(4)	 Both the statements (a) and (b) are incorrect

23. 	 ^maVr` g§KamÁ`mVrb amÁ`o d Ë`m§Mo ñWmnZm df© `m§À`m 
OmoS>çm Owidm :
	 A (amÁ`)		  ~ (ñWmnZm df©)
(a)	 ZmJmb±S>	 (i)	 2000 
(b)	 ‘{Unya		 (ii)	 1987 
(c)	 Jmodm		  (iii)	1972 
(d)	 PmaI§S>	 (iv)	 1963 
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (iv) 	 (iii) 	 (ii) 	 (i)
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(2)	 (i)	 (ii) 	 (iii) 	 (iv) 
(3)	 (iii) 	 (iv) 	 (i) 	 (ii) 
(4)	 (ii)	 (i)    (iv)    (iii)

�� Match the following pairs regarding the states of 
Indian federation and their establishment year :
	 A (State)		  B (Establishment Year) 
(a)	 Nagaland	 (i)	 2000 
(b)	 Manipur	 (ii)	 1987 
(c)	 Goa		  (iii)	 1972 
(d)	 Jharkhand 	 (iv)	 1963 
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (iv) 	 (iii) 	 (ii) 	 (i)
(2)	 (i)	 (ii) 	 (iii) 	 (iv) 
(3)	 (iii) 	 (iv) 	 (i) 	 (ii) 
(4)	 (ii)	 (i)    (iv)    (iii)

24.	 A`mo½` {dYmZ AmoiIm :
(1)	 gdm}ƒ Ý`m`mb`mà‘mUo àË`oH$ Cƒ Ý`m`mb` gwÕm 

A{^boI Ý`m`mb` Amho. 
(2)	 Cƒ Ý`m`mb`mMo Ý`m`mYre ho ^maVmMo ZmJ[aH$ Agy 

eH$VmV. 
(3)	 àË`oH$ Cƒ Ý`m`mb`mMo Ë`m§Mm H$‘©Mmar dJm©da nyU© 

{Z`§ÌU AgVo. 
(4)	 Cƒ Ý`m`mb`mÀ`m ‘w»` Ý`m`mYremMr {Z`wº$s amï´>nVr 

ho ^maVmÀ`m ‘w»` Ý`m`mYrem§À`m g„m-‘gbVrZ§Va 
H$aVmV.

�� Select the incorrect statement :
(1)	 Like the Supreme Court, each High Court is also 

to be a court of record. 
(2)	 A High Court Judge may be a citizen of India.
(3)	 Every High Court has full control over its staff.
(4)	 Chief Justice of the High Court is appointed by the 

President after consultation with Chief Justice of 
India.

25.	 Imbrb {dYmZo {dMmamV ¿`m :
(a)	 ‘hmamï´> amÁ` {ZdS>UyH$ Am`moJmMr ñWmnZm E{àb 

1994 ‘Ü`o H$aÊ`mV Ambr. 
(b)	 amÁ` {dYmZg^m VgoM ñWm{ZH$ ñdamÁ` g§ñWm§À`m 

{ZdS>UwH$m KoUo ho amÁ` {ZdS>UyH$ Am`moJmMo ‘w»` H$m`© 
Amho.

darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
(1)	 ’$º$ (a)	 (2)	 ’$º$ (b) 
(3)	 (a) Am{U (b)	 (4)	darbn¡H$s Zmhr 

�� Consider the following statements : 
(a)	 The Maharashtra State Election Commission was 

established in April 1994. 
(b)	 The main duty of the State Election Commission 

is to conduct the election of State Legislative 
Assembly as well as Local Self Government.

Which of the statement/s given above is/are correct? 
(1)	 Only (a)	 (2)	 Only (b) 
(3)	 (a) and (b)	 (4)	 None of the above

26.	 {~«{Q>em§Zr eoVgmam dgyb H$aÊ`mgmR>r H$moUË`m nÕVrMm  
dmna Ho$bm?
(1)	 O‘rZXmar Am{U a`Vdmar	
(2)	 O‘rZXmar Am{U dVZXmar 
(3)	 a`Vdmar Am{U OmJraXmar 
(4)	 dVZXmar Am{U a`Vdmar 

�� Which are the methods British adopted to recover 
Agricultural dues? 
(1)	 Zamindari and Rayatwari 
(2)	 Zamindari and Watandari 
(3)	 Rayatwari and Jagirdari 
(4)	 Watandari and Rayatwari

27.	 g‘mO gwYma MidirMr nVmH$m H$moëhmnwamV ’$S>H${dUmao 
........... hmoVo. 
(1)	 lr‘§V Amßnmgmho~	 (2)	 amOfu emhÿ ‘hmamO 
(3)	 Mm¡Wo {edmOr ‘hmamO	 (4)	lr‘§V O`qgJ amd

�� The Flag of social reform movement in Kolhapur 
was listed by ......
(1)	 Shrimant Appasaheb	
(2)	 Rajarshi Shahu Maharaj 
(3)	 Shivaji Maharaj IV
(4)	 Shrimant Jaysingh Rao

28.	 Imbrbn¡H$s AMyH$ OmoS>r AmoiIm :
(1)	 Eg. ~°ZOu	 -	 añV JmoâVma
(2)	 A°Zr ~oP§Q> 	 -	 Ý`y B§{S>`m
(3)	 XmXm^mB© Zm¡amoOr 	 -	 B§{S>`Z Amo{n{Z`Z
(4)	 ‘hmË‘m Jm§Yr	 -	 ~§Jmbr

�� Identify the correct pair : 
(1)	 S. Banerjee 	 -	 Rast Gofter
(2)	 Annie Besant	 -	 New India
(3)	 Dadabhai Naoroji	 -	 Indian opinion
(4)	 Mahatma Gandhi	 -	 Bengalee

29.	 n{hbr {dOoda MmbUmar Q´m‘ ‘w§~B© ‘hmZJanm{bH$m 
‘w»`mb`mnmgyZ ...... n`ªV hmoVr. 
(1)	 Hw$bm~m ‘mH}$Q>	 (2)	 ’$moQ>© ‘mH}$Q> 
(3)	 H«$mo’$S>© ‘mH}$Q>	 (4)	^m`Iim ‘mH}$Q> 

�� The first electricity operated Tram was from 
Mumbai Municipal Corporation Main office to
(1)	 Colaba Market	 (2)	 Fort Market
(3)	 Crowford Market	 (4)	 Bhaykhla Market

30.	 {~«{Q>em§Zr Ho$boë`m H$m`Xoera gwYmaUm :
(a)	 {gpìhb àmo{gOa H$moS>	 (i)	 1861 
(b)	 B§{S>`Z nrZb H$moS>	 (ii)	 1858 
(c)	 amUrMm OmhraZm‘m	 (iii)	1859 
(d)	 ìhZm©Š`wba àog A°ŠQ>	 (iv)	1880 
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n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (i) 	 (iii) 	 (ii) 	 (iv)
(2)	 (iii)	 (i) 	 (ii) 	 (iv) 
(3)	 (ii) 	 (i) 	 (iii) 	 (iv) 
(4)	 (iv)	 (ii)    (i)    (iii)

�� Britishers has done this Constitutional Development: 
(a)	 Civil Procedure Code	 (i)	 1861 
(b)	 Indian Penal Code	 (ii)	 1858
(c)	 Queen's Proclamation	 (iii)	 1859
(d)	 Vernacular Press Act 	 (iv)	 1880 
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (i) 	 (iii) 	 (ii) 	 (iv)
(2)	 (iii)	 (i) 	 (ii) 	 (iv) 
(3)	 (ii) 	 (i) 	 (iii) 	 (iv) 
(4)	 (iv)	 (ii)     (i)     (iii)

31.	 ......... øm§Zr n{hbr H$m‘Jma g§KQ>Zm ñWmnZ Ho$br. 
(1)	 am‘H¥$îU qeXo	 (2)	 Zmam`U ‘oKOr bmoI§S>o 
(3)	 aKwOr {^H$mOr	 (4)	Zmam`U gwaH$moOr 

�� ........... established the First Labour Organisation. 
(1)	 Ramkrishna Shinde	
(2)	 Narayan Meghaji Lokhande 
(3)	 Raghuji Bhikaji
(4)	 Narayan Surkoji

32.	 ........... øm§À`m AÜ`jVoImbr ^maVr` OZg§K `m amï´>r` 
njmMr ñWmnZm Pmbr. 
(1)	 AQ>b {~hmar dmOno`r	 (2)	 S>m°. em‘màgmX ‘wIOu 
(3)	 S>m°. OJOrdZ am‘	 (4)	 S>m°. Zrb‘ g§Ord aoÈ>r 

�� Under the Presidentship of the Janasangh as 
Political Party was established. 
(1)	 Atal Bihari Bajpayee
(2)	 Dr. Shama Prasad Mukharjee 
(3)	 Dr. Jagjivan Ram
(4)	 Dr. Neelam Sanjiv Reddy

33.	 `mo½` OmoS>çm bmdm :
(a)	 ñdmV§Í`, g‘Vm Am{U ~§YwVm	 (i)	 Ooåg ñQ>r’$Ýg
(b)	 H$m`‘Ymam nÕVr	 (ii)	 bm°S>© H$m°Z©dm°{bg 
(c)	 ‘hmbdmar nÕVr	 (iii)	Wm°‘g ‘Ýamo 
(d)	 a`Vdmar nÕVr	 (iv)	bm°S>© {dë`‘ ~|qQ>H$ 
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (i) 	 (ii) 	 (iv) 	 (iii)
(2)	 (ii)	 (iii) 	 (iv) 	 (i) 
(3)	 (iii) 	 (iv) 	 (i) 	 (ii) 
(4)	 (iv)	 (i)    (ii)    (iii)

�� Match the appropriate pairs : 
(a)	 Liberty, Equality	 (i)	 James Stiphence 
	 and Fraternity 

(b)	 Kayamdhara System	 (ii)	 Lord Cornwallis 
(c)	 Mahalvari System	 (iii)	 Thomas Manro 
(d)	 Rayatwari System	 (iv)	 Lord William	

			   Bentinck
 Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (i) 	 (ii) 	 (iv) 	 (iii)
(2)	 (ii)	 (iii) 	 (iv) 	 (i) 
(3)	 (iii) 	 (iv) 	 (i) 	 (ii) 
(4)	 (iv)	 (i)    (ii)    (iii)

34.	 .......... ho H°${~ZoQ> {‘eZMo gXñ` ZìhVo. 
(1)	 bm°S>© bm°aoÝg	 (2)	 E. ìhr. AboŠPm§S>a 
(3)	 ga ñQ>°’$moS>© {H«$ßng	 (4)	bm°S>© ‘mC§Q> ~°Q>Z

��  ...... was not the member of the Cabinet Mission. 
(1)	 Lord Lawrence	 (2)	 A.V. Alexander 
(3)	 Sir Stafford Cripps	 (4)	 Lord Mount battan

35.	 Am`© ‘{hbm g‘mO ór - gwYmaUmH$[aVm .......... øm§Zr 
ñWmnZm Ho$br. 
(1)	 Vmam~mB© qeXo	 (2)	AmZ§Xr~mB© Omoer 
(3)	 gm{dÌr~mB© ’w$bo	 (4)	 n§{S>Vm a‘m~mB© 

�� The Arya Mahila Samaj for the reforms of women 
was established by ...........
(1)	 Tarabai Shinde	 (2)	 Anandibai Joshi 
(3)	 Savitribai Phule	 (4)	 Pandita Ramabai

36.	 ...... g§ñWm H«$m§{VH$mar amï´>dmXmer g§~§{YV hmoVr. 
(1) ~m°å~o Agmo{gEeZ	 (2) hmo‘ê$b brJ 
(3) A{^Zd ^maV	 (4) b±S> hmoëS>g© Agmo{gEeZ

�� ............ organisation was associated with the 
Revolutionary Nationalism. 
(1)	 Bombay Association	
(2)	 Home Rule League 
(3)	 Abhinav Bharat
(4)	 Land holders' Association

37.	 B§½b§S>Mo n§VàYmZ ...... `m§Zr 16 Am°JñQ> 1932 amoOr OmVr` 
{ZdmS>m Omhra Ho$bm. 
(1)	 a°‘go ‘°H$S>moZmëS>	 (2)	 {dÝñQ>Z M{M©b 
(3)	 Zoìhrb M|~aboZ	 (4)	Šbo‘|Q> A°Q>br 

�� The British Prime Minister ...... declared the 
Communal Award on 16th August 1932. 
(1)	 Ramsay Macdonald	 (2)	 Winston Churchill 
(3)	 Neville Chamberlain	 (4)	 Clement Attlee

38.	 5 ‘mM© 1948 amoOr ........ `m§Mr ^maVmMo n{hbo JìhZ©a 
OZab åhUyZ Zo‘UyH$ Pmbr. 
(1)	 em‘màgmX ‘wIOu	 (2)	gamo{OZr Zm`Sy> 
(3)	 gr. amOJmonmbMmar	 (4)	gr. M§Ðmñdm‘r

�� ........... was appointed as the first Governor General 
of India on 5th March 1948. 
(1)	 Shyama Prasad Mukherji
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(2)	 Sarojini Naidu 
(3)	 C. Rajgopalachari
(4)	 C. Chandraswami

39.	 n{hbo ‘{hbm {dÚmnrR> 1816 ‘Ü`o ............. øm§Zr 
ñWm{nV Ho$bo. 
(1)	 ZmWr~mB© R>mH$agr	 (2)	 {dÇ>bXmg R>mH$agr 
(3)	 S>m°. Ym|S>mo Ho$ed H$d}	 (4)	JmoXwVmB© H$d} 

�� In 1816 the First Women University was established 
by ..........
(1)	 Nathibai Thakersey
(2)	 Vithaldas Thakersey 
(3)	 Dr. Dhondo Keshav Karve 
(4)	 Godutai Karve

40.	 "^maVr` ~{hîH¥$V {ejU àgmaH$ ‘§S>i' Mr ñWmnZm ...... 
øm§Zr Ho$bo. 
(1)	 {dÇ>b am‘Or qeXo	 (2)	 Á`mo{V~m ’w$bo 
(3)	 S>m°. ~r.Ama. Am§~oS>H$a	(4)	 a‘m~mB© amZS>o 

�� 'Bharatiya Bahiskrut Shikshan Prasarak Mandal' 
was established by ......
(1)	 Vithal Ramji Shinde	 (2)	 Jyotiba Phule 
(3)	 Dr. B.R. Ambedkar	 (4)	 Ramabai Ranade

41.	 nyd© ‘hmamï´>mVrb {deofV… M§Ðnya Am{U ^§S>mam {OëømVrb 
na§namJV ObqgMZ Vbmdmg H$m` åhUVmV?
(1)	 OmohS> 		 (2)	‘mbJwPar 
(3)	 eoVVir 	 (4)	nmUbmoQ> 

�� What is known as traditional irrigation lakes in 
Chandrapur and Bhandara districts in Maharashtra? 
(1)	 Johad 	 (2)	 Malguzari 
(3)	 Farmlake 	 (4)	 Watershed

42.	 Imbrbn¡H$s H$moUVm dgmhVrÀ`m {dH$mgmMm H«$‘ AMyH$ Amho?
(1)	 IoS>o, ZJa, eha, gÞJa, ‘hmZJa 
(2)	 IoS>o, ZJa, eha, ‘hmH$m`ZJa, ‘hmZJa 
(3)	 IoS>o, eha, ZJa, ‘hmH$m`ZJa, gÞJa 
(4)	 IoS>o, eha, ZJa, ‘hmZJa, gÞJa 

�� Which of the following sequence of development of 
settlements is correct ? 
(1)	 Village, City, Town, Conurbation, Metropolis 
(2)	 Village, City, Town, Megalopolis, Metropolis 
(3)	 Village, Town, City, Megalopolis, Conurbation
(4)	 Village, Town, City, Metropolis, Conurbation

43.	 Imbrb aoëdo {d^mJ d Ë`m§Mo ‘w»`mb` `m§À`m `mo½`  
OmoS>çm bmdm. 
	 aoëdo {d^mJ		  ‘w»`mb` 
(a)	 n{íM‘ {d^mJ	 (i)	 Abmhm~mX 
(b)	 nyd©-‘Ü` {d^mJ	 (ii)	 ^wdZoída 
(c)	 nyd© {H$Zmar {d^mJ	 (iii)	hmOrnya 
(d)	 CÎma ‘Ü` {d^mJ	 (iv)	 MM©JoQ> (‘w§~B©) 

n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (i) 	 (iii) 	 (iv)
(2)	 (iii)	 (iv) 	 (i) 	 (ii) 
(3)	 (iv) 	 (iii) 	 (ii) 	 (i) 
(4)	 (ii)	 (iv)    (i)    (iii)

�� Match the following Railway Zones to their correct 
centres : 
	 Railway Zone		  Headquarter 
(a)	 West Zone	 (i)	 Allahabad 
(b)	 East-Central Zone	 (ii)	 Bhuwaneshwar 
(c)	 East Coastal Zorne	 (iii)	 Hazipur 
(d)	 North Central Zone	 (iv)	 Churchgate (Mumbai) 
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (i) 	 (iii) 	 (iv)
(2)	 (iii)	 (iv) 	 (i) 	 (ii) 
(3)	 (iv) 	 (iii) 	 (ii) 	 (i) 
(4)	 (ii)	 (iv)    (i)    (iii)

44.	 ^maVmVrb H$moUVo amÁ` gZ 2015 ‘Ü`o g|{Ð` amÁ` (organic 
state) åhUyZ Kmo{fV Ho$bo Jobo? 
(1)	 AéUmMb àXoe	 (2)	Amo[agm 
(3)	 Vm{‘iZmSy>	 (4)	 {g¸$s‘ 

�� Which state of India is declared as organic state in 
2015 ? 
(1)	 Arunachal Pradesh	 (2)	 Orissa 
(3)	 Tamilnadu	 (4)	 Sikkim

45.	 OmoS>çm Owidm : 
	 CnJ«h			  Cn`moOZ 
(a)	 JJZ		  (i)	 XiUdiU CnJ«h 
(b)	 Org°Q>		 (ii)	 n¥ÏdrMo {ZarjU 
(c)	 H$mQ>m}g°Q> 	 (iii)	hdm‘mZ Am{U n`m©daU 
(d)	 A°J«mo‘oQ> 	 (iv)	 {XemXe©Z 
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (iii) 	 (iv) 	 (i) 	 (ii)
(2)	 (iv)	 (i) 	 (ii) 	 (iii) 
(3)	 (iv) 	 (ii) 	 (i) 	 (iii) 
(4)	 (iv)	 (iii)    (ii)    (i)

�� Match the following: 
	 Satellite		  Application 
(a)	 GAGAN	 (i)	 Communication Satellite 
(b)	 GSAT		 (ii)	 Earth Observation 
(c)	 CARTOSAT 	 (iii)	 Climate and Environment 
(d)	 AGROMET	 (iv)	 Navigation 
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (iii) 	 (iv) 	 (i) 	 (ii)
(2)	 (iv)	 (i) 	 (ii) 	 (iii) 
(3)	 (iv) 	 (ii) 	 (i) 	 (iii) 
(4)	 (iv)	 (iii)    (ii)    (i)
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46.	 ‘hmamï´>mV gdm©V OmñV ñWbm§Va ...... nmgyZ ...... hmoVo.
(1)	 ZmJar H|$ÐmH$Sy>Z J«m‘rU joÌm§H$S>o 
(2)	 J«m‘rU joÌm§H$Sy>Z J«m‘rU joÌm§H$S>o 
(3)	 J«m‘rU joÌm§H$Sy>Z ZmJar H|$ÐmH$S>o 
(4)	 ZmJar H|$ÐmH$Sy>Z ZmJar H|$ÐmH$S>o 

�� In Maharashtra maximum migration is from ........... 
to ...........
(1)	 urban centres to rural areas 
(2)	 rural areas to rural areas 
(3)	 rural areas to urban centres 
(4)	 urban centres to urban centres

47.	 ^maVmÀ`m J«oQ> {ZH$mo~ma ~oQ>mVrb ...... ho gdm©V X{jUoH$S>rb 
{R>H$mU AgyZ Vo 6045' CÎma Ajd¥Îmmda Amho. 
(1)	 dra gmdaH$a nm°BªQ>	 (2)	gw^mfM§Ð ~mog nm°BªQ> 
(3)	 B§{Xam nm°BªQ>	 (4)	Odmha nm°BªQ> 

�� ............. in Great Nichobar Island of India is the last 
place towards south, located on 6045' North Latitude
(1)	 Vir Savarkar Point
(2)	 Subhash Chandra Bose Point 
(3)	 Indira Point
(4)	 Jawahar Point

48.	 Imbrb {dYmZm§VyZ ~amo~a CÎma {ZdS>m.
(1)	 ‘hmamï´>mV Am¡a§Jm~mX, ~rS>, OmbZm d ~wbT>mUm 

{OëømV ~m°ŠgmB©Q>Mo gmR>o AmhoV. 
(2)	 ‘hmamï´>mV H$moëhmnya, aËZm{Jar, qgYyXwJ© d am`JS> 

{OëømV ~m°ŠgmB©Q>Mo gmR>o AmhoV. 
(3)	 ‘hmamï´>mV M§Ðnya, ^§S>mam, `dV‘mi d dYm© {OëømV 

~m°ŠgmB©Q>Mo gmR>o AmhoV. 
(4)	 ‘hmamï´>mV Ah‘XZJa, Ywio, Z§Xwa~ma d Zm{eH$ {OëømV 

~m°ŠgmB©Q>Mo gmR>o AmhoV. 
�� Choose correct answer from the following statements.

(1)	 In Maharashtra Aurangabad, Beed, Jalna and 
Buldhana districts have depositions of bauxite. 

(2)	 In Maharashtra Kolhapur, Ratnagiri, Sindhudurg 
and Raigad districts have depositions of bauxite. 

(3)	 In Maharashtra Chandrapur, Bhandara, Yevatmal 
and Vardha districts have depositions of bauxite. 

(4)	 In Maharashtra Ahmednagar, Dhule, Nandurbar 
and Nasik districts have depositions of bauxite.

49.	 ‘hmamï´>mVrb Imbrb ImS>çm§Mm X{jUoH$Sy>Z CÎmaoH$S>o `mo½` 
H«$‘ {bhm.
(1)	 VoaoImob, {dO`XwJ©, Xm^moi, amOmnwar 
(2)	 Xm^moi, amOmnwar, VoaoImob, {dO`XwJ©
(3)	 {dO`XwJ©, Xm^moi, amOmnwar, VoaoImob
(4)	 amOmnwar, VoaoImob, {dO`XwJ©, Xm^moi

�� Write correct sequence of the following creeks of 
Maharashtra from South to North.
(1)	 Terekhol, Vijaydurg, Dabhol, Rajapuri

(2)	 Dabhol, Rajapuri, Terekhol, Vijaydurg
(3)	 Vijaydurg, Dabhol, Rajapuri, Terekhol
(4)	 Rajapuri, Terekhol, Vijaydurg, Dabhol

50.	 ‘hmamï´>mV ZmJM§nm, nm§T>am{gS>ma, ’$Ug, H$mdgr B. d¥j 
Imbrbn¡H$s H$moUË`m àH$maÀ`m AaÊ`mV AmT>iVmV?
(1)	 CîUH${Q>~§Yr` gXmh[aV
(2)	 CîUH${Q>~§Yr` {Z‘ gXmh[aV
(3)	 Cn CîUH${Q>~§Yr` gXmh[aV
(4)	 CîUH${Q>~§Yr` AmÐ© nmZPS>r

�� Nagchampa, White Cidar, Jackfruit, Kavasi etc. 
trees are found in which of the following type of 
forests in Maharashtra?
(1)	 Tropical Evergreen
(2)	 Tropical Semi Evergreen
(3)	 Sub Tropical Evergreen
(4)	 Tropical Moist Deciduous

51.	 ‘hmamï´>mVrb à‘wI ObqgMZ `moOZoÀ`m {Oëømà‘mUo `mo½` 
OmoS>çm bmdm : 
(a)	 XodKa		 (i)	 Zm{eH$ 
(b)	 nwUoJmd	 (ii)	 ~wbT>mUm 
(c)	 ‘m§Oam		 (iii)	 nwUo 
(d)	 ZiJ§Jm	 (iv)	 Cñ‘mZm~mX 
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (iv) 	 (iii) 	 (i)
(2)	 (iv)	 (iii) 	 (i) 	 (ii) 
(3)	 (iii) 	 (i) 	 (iv) 	 (ii) 
(4)	 (i)	 (iv)    (ii)    (iii)

�� Match the major irrigation schemes to their correct 
districts in Maharashtra respectively. 
(a)	 Devghar	 (i)	 Nashik 
(b)	 Punegaon	 (ii)	 Buldhana 
(c)	 Manjra	 (iii)	 Pune 
(d)	 Nalganga	 (iv)	 Osmanabad 
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (iv) 	 (iii) 	 (i)
(2)	 (iv)	 (iii) 	 (i) 	 (ii) 
(3)	 (iii) 	 (i) 	 (iv) 	 (ii) 
(4)	 (i)	 (iv)    (ii)    (iii)

52.	 Imbrb {dYmZm§da {dMma H$am :
(a)	 ’$[aXm~mX ho CnJ«h eha (Satellite Town) Amho. 
(b)	 ho eha {X„rÀ`m X{jUog 25 {H$. ‘r. AgyZ dmhVyH$ 

gw{dYoZo OmoS>bobo Amho. 
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho/AmhoV? 
(1)	 ’$º$ (a)	 (2)	 ’$º$ (b) 
(3)	 (a) Am{U (b) XmoÝhr	
(4)	 (a) Am{U (a) XmoÝhr Zmhr 
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�� Consider the following statements : 
(a)	 Faridabad is a Satellite Town. 
(b)	 It is 25 km South of Delhi and well connected by 

transportation facilities. 
Which of the above statements is/are correct? 
(1)	 Only (a)	 (2)	 Only (b) 
(3)	 Both (a) and (b)	 (4)	 Neither (a) nor (b)

53.	 Imbr Z‘yX ‘hmamï´>mVrb ImS>çm d ZÚm§À`m ̀ mo½` OmoS>çm bmdm.
	 ImS>r			   ZXr
(a)	 ‘Zmoar		  (i)	 H$mOir
(b)	 ^mQ>ço		  (ii)	 nmVmiJ§Jm
(c)	 O¡Vmnya		 (iii)	 X{hga
(d)	 Ya‘Va		 (iv)	 H$mOdr
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (i) 	 (iii) 	 (ii) 	 (iv)
(2)	 (iii)	 (i) 	 (iv) 	 (ii) 
(3)	 (iv) 	 (ii) 	 (iii) 	 (i) 
(4)	 (ii)	 (iv)    (i)    (iii)

�� Match the following Creeks and Rivers in Maharashtra.
	 Creek		  River
(a)	 Manori	 (i)	 Kajali 
(b)	 Bhateya	 (ii)	 Patalganga 
(c)	 Jaitapur	 (ii)	 Dahisar 
(d)	 Dharamtar	 (iv)	 Kajavi 
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (i) 	 (iii) 	 (ii) 	 (iv)
(2)	 (iii)	 (i) 	 (iv) 	 (ii) 
(3)	 (iv) 	 (ii) 	 (iii) 	 (i) 
(4)	 (ii)	 (iv)    (i)    (iii)

54.	 OmoS>çm Owidm : 
	 ZXr			   CnZXr 
(a)	 Vmnr 		  (i) 	 VmdaOm
(b)	 ‘m§Oam 	 (ii)	 KmoS> 
(c)	 àdam		  (iii)	 ‘wim
(d)	 ^r‘m		  (iv)	 AZoa
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (iv) 	 (ii) 	 (i) 	 (iii)
(2)	 (iv)	 (i) 	 (iii) 	 (ii) 
(3)	 (iv) 	 (iii) 	 (i) 	 (ii) 
(4)	 (ii)	 (iv)    (iii)    (i)

�� Match the following :
	 River			  Tributary
(a)	 Tapi		  (i)	 Tawarja 
(b)	 Manjara	 (ii)	 Ghod 
(c)	 Pravara	 (iii)	 Mula
(d)	 Bhima 	 (iv)	 Aner

Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (iv) 	 (ii) 	 (i) 	 (iii)
(2)	 (iv)	 (i) 	 (iii) 	 (ii) 
(3)	 (iv) 	 (iii) 	 (i) 	 (ii) 
(4)	 (ii)	 (iv)    (iii)    (i)

55.	 ‘mog‘r nmdgmMo à‘mU d {Oëøm§À`m `mo½` OmoS>çm bmdm.
(a)	 40 Vo 50 go.‘r.	 (a)	 bmVya 
(b)	 50 Vo 75 go.‘r.	 (b)	 ZmJnya 
(c)	 75 Vo 100 go.‘r.	 (c)	 gm§Jbr 
(d)	 100 Vo 150 go.‘r. 	 (d)	 ~wbT>mUm 
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (i) 	 (iv) 	 (iii)
(2)	 (i)	 (iii) 	 (ii) 	 (iv) 
(3)	 (iii) 	 (iv) 	 (i) 	 (ii) 
(4)	 (iv)	 (ii)    (iii)    (i)

�� Match the columns of Monsoon rainfall with 
respective districts correctly. 
(a)	 40 to 50 cm	 (i)	 Latur 
(b)	 50 to 75 cm	 (ii)	 Nagpur 
(c)	 75 to 100 cm 	 (iii)	 Sangli 
(d)	 100 to 150 cm 	 (iv)	 Buldhana 

�� Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (i) 	 (iv) 	 (iii)
(2)	 (i)	 (iii) 	 (ii) 	 (iv) 
(3)	 (iii) 	 (iv) 	 (i) 	 (ii) 
(4)	 (iv)	 (ii)    (iii)    (i)

56.	 n¡emMr H$m`© hr Amho/AmhoV : 
(a)	 {d{Z‘` ‘mÜ`‘	 (b)	 ‘yë`‘mnZ 
(c)	 ‘yë`g§J«h	 (d)	 {db§{~V XoUr 
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/V? 
(1)	 ’$º$ (a)	 (2)	 (a) d (b) 
(3)	 ’$º$ (c)	 (4)	darb gd© 

�� The following is/are the Functions of money : 
(a)	 medium of exchange	
(b)	 measures of value 
(c)	 store of value
(d)	 standard of deferred payment 
Which of the statements given above is/are correct?
(1)	 Only (a)	 (2)	 (a) and (b) 
(3)	 Only (c)	 (4)	 All of the above

57.	 2013-14 ‘Yrb ^maVr` {Z`m©Vr‘Ü`o Imbrbn¡H$s H$moUVo 
joÌ gdm}ƒ ñWmZr hmoVo ? 
(1)	 eoVr		  (2)	‘m{hVr V§ÌkmZ 
(3)	 AewÕ YmVy d I{ZOo	 (4)	H$maImZm CËnm{XV dñVy 

�� Which of the following sector is highest in Indian 
export during 2013-14 ? 
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(1)	 Agriculture
(2)	 Information technology 
(3)	 Ores and minerals	
(4)	 Manufactured goods

58.	 gZ 2012-13 À`m ^maVr` [aPìh© ~±Ho$À`m bo»`mZwgma 
Imbrb OmoS>çm `mo½` nÕVrZo Owidm : 
	 ~±H$ àH$ma/aMZm		  ~±Ho$Mo Zmd 
(a)	 amï´>r` ~±H$	 (i)	 dyar ~±H$ 
(b)	 {dXoer ~±H$	 (ii)	 Z¡{ZVmb ~±H$ 
(c)	 OwZr ImOJr joÌmVrb ~±H$ 	 (iii)	 Am§Y«m ~±H$
(d)	 ZdrZ ImOJr joÌmVrb ~±H$ 	 (iv)	 `og ~±H$ 
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (iii) 	 (i) 	 (ii) 	 (iv)
(2)	 (ii)	 (i) 	 (iv) 	 (iii) 
(3)	 (i) 	 (iv) 	 (ii) 	 (iii) 
(4)	 (i)	 (ii)    (iii)    (iv)

�� As per profile of Bank 2012-13 (RBI), match the 
columns : 
	 Type/Structure of		  Name of the 

Bank			  Banking
(a)	 Nationalised bank	 (i)	 Woori Bank 
(b)	 Foreign bank	 (ii)	 Nainital Bank 
(c)	 Old Private Sector bank  	 (iii)	 Andhra Bank
(d) 	 New Private Sector bank  	 (iv)	 Yes Bank
Answer Options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (iii) 	 (i) 	 (ii) 	 (iv)
(2)	 (ii)	 (i) 	 (iv) 	 (iii) 
(3)	 (i) 	 (iv) 	 (ii) 	 (iii) 
(4)	 (i)	 (ii)    (iii)    (iv)

59.	 2006 ‘Ü`o ‘Ü`‘ CnH«$‘mMr ì`m»`m H$aVmZm Ë`mgmR>r 
pñWa ̂ m§S>db Jw§VdUyH$ ‘`m©Xm ................. R>odÊ`mV Ambr. 
(1)	 < 25 bmI Vo  < 5 H$moQ>r `m‘Ü`o 
(2)	 < 5 H$moQ>rnojm H$‘r 
(3)	 < 5 H$moQ>r Vo  < 10 H$moQ>r `m‘Ü`o 
(4)	 < 10 H$moQ>rnojm OmñV 

�� In 2006 medium - scale enterprises defined as 
undertaking with fixed capital investment .........
(1)	 between  < 25 lakhs to < 5 crores
(2)	 less than < 5 crores
(3)	 between < 5 crores to < 10 crores 
(4)	 more than 10 crores

60.	 Am¡Úmo{JH$ CËnmXZmMm {ZX}em§H$ (IIP) nm`m^yV dfmªVrb 
~Xbm‘YyZ doimodoir gwYm[aV Ho$bm OmVmo. gÚ:pñWVrV IIP 
À`m A§XmOmMo nm`m^yV df© gm§Jm : 
(1)	 1993-94	 (2)	2004-05 
(3)	 2005-06	 (4)	1999-2000 

�� IIP (Index of Industrial Production) has been 
revised from time to time by shifting the base year. 
Currently, the base year for estimating IIP is ........
(1) 	 1993-94 	 (2)	 2004-05 
(3)	 2005-06 	 (4)	 1999-2000

61.	 ^maVmV amï´>r` CËnÞ ‘moOVm§Zm H$moUVm H$mbI§S> ho 'df©' 
‘mZbo OmVo?
(1)	 1 OmZodmar Vo 31 {S>g|~a	(2)	1 Am°ŠQ>mo~a Vo 30 gßQ>|~a 
(3)	 1 Owb¡ Vo 30 OyZ	 (4)	1 E{àb Vo 31 ‘mM© 

�� Which period is called a 'year' while measuring the 
National Income in India ? 
(1)	 1 January to 31 December
(2)	 1 October to 30 September 
(3) 	 1 July to 30 June
(4)	 1 April to 31 March

62.	 ñdmV§Í¶àmárZ§Va ^maVmZo {Z`moOZmVyZ d¥Õr `m YmoaUmMm 
ñdrH$ma Ho$bm. Ë`mgmR>r Imbrbn¡H$s H$moUVo joÌ à~i am{hbo 
Am{U d¥ÕrH$[aVmMo à‘wI gmYZ ~Zbo? 
(1)	 {dXoer joÌ	 (2)	gmd©O{ZH$ joÌ 
(3)	 eoVr joÌ	 (4)	 {dÎmr` joÌ 

�� After Independence India followed the policy 
of planned growth. Which sector was given 
the dominant position and was made the main 
instrument of growth ? 
(1)	 The Foreign Sector	 (2)	 The Public Sector 
(3)	 The Agriculture Sector	(4)	 The Financial Sector

63.	 2011 À`m OZJUZoZwgma EHy$U H$m‘Jma Xbm‘Ü`o eoV‘Owam§Mo 
à‘mU {H$Vr Amho? 
(1)	 70%	 (2)	 65%	 (3)	 54.6%	 (4)	30% 

�� What is the percentage of agricultural workers in 
total workforce according to census 2011 ? 
(1)	 70%	 (2)	 65%	 (3)	 54.6% 	  (4)	 30%

64.	 ~±Ho$Mm Xa ho nV{Z`§ÌUmMo H$moUVo gmYZ Amho?
(1)	 g§»`mË‘H$	 (2)	JwUmË‘H$ 
(3)	 g§»`mË‘H$ d JwUmË‘H$	 (4)	darbn¡H$s Zmhr

�� Bank rate is instrument of which type of credit 
control ? 
(1)	 Quantitative	
(2)	 Qualitative 
(3)	 Quantitative and qualitative 
(4) 	 None of the above

65.	 OnmZ‘Ü`o àmW{‘H$ joÌmA§VJ©V ‘mgo‘mar hm à‘wI Am{W©H$ 
CnH«$‘ Amho. ^maVmbm {dñVrU© g‘wÐ {H$Zmam bm^bobm Amho. 
na§Vw ‘Ëñ`ì`dgm`mVyZ {‘iUmao CËnmXZ ‘mÌ H$mhrgo H$‘rM 
Amho. ̀ m joÌmÀ`m ‘`m©{XV d¥ÕrMr H$moUVr XmoZ H$maUo AmhoV? 
(a)	 godm joÌmMm g§W d¥Õr Xa 
(b)	 ‘mgoH$[aVm ñdXoemVrb ‘`m©{XV ‘mJUr 
(c)	 ì`mnma, dmhVyH$ Am{U g§XoedhZ BË`mqXMm g§W d¥Õr Xa 
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(d)	 ‘mgo nH$S>Ê`mMr nma§n[aH$ nÕVr 
n`m©`r CÎmao : 
(1)	 (a) Am{U (c)	 (2)	 (b) Am{U (c) 
(3)	 (c) Am{U (d)	 (4)	 (b) Am{U (d) 

�� In Japan, fishing is a major economic activity in 
the primary sector. India has a vast sea coast but 
the output of fisheries is rather small. Which two 
reasons for the limited growth of this sector? 
(a)	 Slow growth rate of services sector
(b)	 Domestic demand for fish is limited in the country 
(c)	 Steady growth of trade, transport and communication 
(d) 	 Traditional methods of catching the fish 
Answer Options : 
(1)	 (a) and (c)	 (2)	 (b) and (c) 
(3)	 (c) and (d)	 (4)	 (b) and (d)

66.	 {Z`moOZ Am`moJmÀ`m 2012 À`m à{gÕr nÌH$mZwgma 
2009-10 ‘Ü`o J[a~r‘Ü`o H$moUË`m amÁ`mMm àW‘ H«$‘m§H$ 
bmJVmo? 
(1)	 N>ÎmrgJT> 	 (2)	‘{Unya 
(3)	 CÎmaàXoe	 (4)	 {~hma 

�� According to the press note of Planning Commission 
2012, which state ranks first in poverty during  
2009-10? 
(1)	 Chhattisgarh 	 (2)	 Manipur 
(3)	 Uttar Pradesh	 (4)	 Bihar

67.	 a§JamOZ g{‘VrÀ`m ‘Vo 2011-12 ‘Ü`o -
(a)	 ^maVmVrb 29.5% bmoH$g§»`m Xm[aÐçaofoImbr Amho.
(b)	 J«m‘rU ̂ mJmVrb 30.9% bmoH$g§»`m d ehar ̂ mJmVrb 

26.4% bmoH$g§»`m Xm[aÐçaofoImbr Amho. 
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/V? 
(1)	 ’$º$ (a)	 (2)	 ’$º$ (b) 
(3)	 (a) d (b)	 (4)	darbn¡H$s Zmhr 

�� According to Rangarajan Committee is 2011-12 : 
(a)	 In India 29.5% population is below poverty line.
(b)	 In rural area 30.9% population and in urban area 

26.4% population is below poverty line.
Which of the statements given above is/are correct? 
(1)	 Only (a)
(2)	 Only (b) 
(3)	 (a) and (b)
(4)	 None of the above

68.	 Imbrb XmoZn¡H$s H$moUVo EH$ dmŠ` ~amo~a Amho?
(a)	 eoVrjoÌmVrb Iyn JXu‘wio/A{YH$À`m Adb§~Zm‘wio 

Nw>nr ~oamoOJmar nmhmd`mg {‘iVo. 
(b)	 Joë`m H$mhr XeH$mV Am¡Úmo{JH$ joÌmVrb ~oamoOJmar 

H$‘r Pmbobr AmT>iVo. 
n`m©`r CÎmao : 
(1)	 Ho$di (a)	 (2)	Ho$di (b) 

(3)	 (a) Am{U (b)	 (4)	darbn¡H$s Zmhr 
�� Which one of the following two statements is correct? 

(a)	 Overcrowding of agriculture has led to disguised 
unemployment. 

(b)	 Over the last few decades, unemployment in the 
industrial sector has decreased. 

Answer Options : 
(1)	 Only (b)	 (2)	 Only (a)
(3)	 (a) and (b)	 (4)	 None of the above

69. 	 ñWyb XoemÝVJ©V CËnmXZ (G.D.P.) Mm AW© Amho :
(a)	 ñWyb amï´>r` CËnmXZ (G.N.P.)
(b)	 {Zìdi amï´>r` CËnmXZ (N.N.P.)
(c)	 EH$m XoemÀ`m gr‘oVM CËnm{XV Pmboë`m dñVy d godm
(d)	 gaH$mar CËnÞ
darbn¡H$s H$moUVo {dYmZ/Zo ~amo~a AmhoV?
(1)	 (a) ’$º$	 (2)	 (a) d (b) ’$º$
(3)	 (c) ’$º$	 (4)	 (d) ’$º$

�� The meaning of Gross Domestic Product (G.D.P.) is:
(a)	 Gross National Product (G.N.P.)
(b)	 Net National Product (N.N.P.)
(c)	 Production of goods and services in the country's 

own territory
(d)	 Government Income 
Which of the statements given above is/are correct?
(1)	 (a) only	 (2)	 (a) and (b) only 
(3)	 (c) only	 (4)	 (d) only

70.	 2011 À`m OZJUZoZwgma Ho$ai amÁ`m‘Ü`o Xa hOma nwéfm§‘mJo 
{ó`m§Mr g§»`m {H$Vr hmoVr?
(1)	 1032		 (2)	1040
(3)	 1058		 (4)	1084

�� What is the number of females per 1000 males in the 
state of Kerala according to census 2011?
(1)	 1032		  (2)	 1040
(3)	 1058		  (4)	 1084

71.	 lì`mVrV ÜdZrbhatÀ`m gmhmæ`mZo ~maH$mB©Zo Ho$bobr 
VnmgUr ......... gmR>r Cn`moJr Amho.
(a)	 J^m©V Agbobm Xmof g‘OÊ`mgmR>r 
(b)	 öX`mÀ`m PS>nm§Mr hmbMmb g‘OÊ`mgmR>r 
n`m©`r CÎmao : 
(1)	 {dYmZ (a) ho gË` Amho na§Vw {dYmZ (b) ho AgË` Amho. 
(2)	 {dYmZ (a) ho AgË` Amho na§Vw {dYmZ (b) ho gË` Amho. 
(3)	 XmoÝhr {dYmZo (a) Am{U (b) gË` AmhoV. 
(4)	 XmoÝhr {dYmZo (a) Am{U (b) AgË` AmhoV.

�� The Ultrasound Scanning is useful 
(a)	 to examine the defects in a foetus 
(b)	 for determining motion of heart valve
Answer Options : 
(1)	 (a) is True but sentence (b) is False
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(2)	 (a) is False but sentence (b) is True 
(3)	 Both sentences (a) and (b) are True 
(4)	 Both sentences (a) and (b) are False

72.	 Imbrbn¡H$s H$moU BÝ’«$mgmoZrH$ bhatMm dmna EH$‘oH$m§er 
g§dmX gmYÊ`mgmR>r H$aVmo?
(1)	 ìhob (Whale) 	 (2)	J|S>m 
(3)	 hÎmr		  (4)	darb gd© 

�� Who of the following use infrasonic waves to 
communicate with each other? 
(1)	 Whale 	 (2)	 Rhinoceros 
(3) 	 Elephant 	 (4)	 All the above

73.	 Ooìhm AmnU Xw~©b àVrMm ÜdZr ‘moR>çm ÜdZrV ~XbVmo Voìhm 
ÜdZrMr/Mm 
(1)	 doJ		  (2)	dma§dmaVm 
(3)	 {dnwbVm 	 (4)	Va§Jcm§~r

�� When we change feeble sound to loud sound, we 
increase its : 
(1) 	 Velocity 	 (2) 	 Frequency 
(3)	 Amplitude	 (4) 	 Wavelength

74.	 àË`oH$ ‘Zwî`mbm XaamoO gamgar ídgZmÛmao {H$Vr hdm ídgZ 
Ho$br OmVo?
(1)	 1 {H$bmo	 (2)	10-20 {H$bmo 
(3)	 15-22 {H$bmo 	 (4)	100 {bQ>a 

�� How much air inhales every individual person 
approximately a daily? 
(1)	 1kg 		  (2)	 10-20 kg 
(3) 	 15-22 kg 	 (4) 	 100 Litre

75.	 ½bwH$moOMo ê$nm§Va B{Wb AëH$mohmob‘Ü`o H$aÊ`mgmR>r H$moUVo 
g§àoaH$ (enzyme) dmnaVmV?
(1)	 BZìhQ>}O	 (2)	‘mbQ>oO 
(3)	 S>m`ñQ>oO 	 (4)	Pm`‘oO 

�� The enzyme which can catalyse the conversion of 
glucose to ethanol is : 
(1)	 Invertage	 (2)	 Maltase 
(3)	 Diastage 	 (4)	 Zymage

76. 	 H$moUVm dm`y "J«rZ hmD$g B’o$ŠQ>' bm H$maUr^yV AgVmo? 
(1)	 H$m~©Z S>m`Am°ŠgmB©S>	 (2)	Am°ŠgrOZ 
(3)	 Zm`Q´moOZ	 (4)	AmoPmoZ 

�� Which gas is Responsible for Green House effect? 
(1) 	 CO2		  (2)	 O2 
(3) 	 N2		  (4) 	 O3

77.	 Imbrb OmoS>çm Owidm : 
(a)	 {bM		  (i)	 nmBgrP² 
(b)	 Am°ŠQ>mong	 (ii)	 aoßQ>rcr¶m
(c)	 S>m°J{’$e 	 (iii)	 ‘byñH$m
(d)	 ñQ>oJmogmag 	 (iv)	A°{Z{bS>m 

n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (iii) 	 (iv) 	 (i)
(2)	 (iii)	 (iv) 	 (ii) 	 (i) 
(3)	 (i) 	 (iv) 	 (iii) 	 (ii) 
(4)	 (iv)	 (iii)    (i)    (ii)

�� Match the following : 
(a)	 Leech		 (i)	 Pisces 
(b)	 Octopus 	 (ii)	 Reptilia 
(c)	 Dogfish 	 (iii)	 Mollusca 
(d)	 Stegosaurus 	 (iv)	 Annelida 
Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (iii) 	 (iv) 	 (i)
(2)	 (iii)	 (iv) 	 (ii) 	 (i) 
(3)	 (i) 	 (iv) 	 (iii) 	 (ii) 
(4)	 (iv)	 (iii)    (i)    (ii)

78.	 Am{XOrdm§À`m Imbrbn¡H$s H$moUË`m dJm©Mm JwUY‘© 
~¥hÛ|ÐH$ Am{U gyú‘H|$ÐH$ `m§Mo ApñVËd hm Amho?
(1)	 H$em{^H$s (âbmOobmQ>m)	(2)	N>ÙnmXr (gmaH$moS>rZm) 
(3)	 ~rOmUwYmar (ñnmoamoPmoAm)	(4)	 amo‘H$s (gr{bAmQ>m) 

�� Presence of a macronucleus and a micronucleus is 
the characteristic of which of the following classes 
of protozoa? 
(1)	 Flagellata	 (2)	 Sarcodina 
(3)	 Sporozoa	 (4)	 Ciliata

79.	 J°ñQ´monmoS>m (Gastropoda) dJm©Vrb JmoJbJm`rMo H$dM  
........ ìhm°ëdZo (valve) ~Zbobo AgVo. 
(1)	 Xwhoar (Double)	 (2)	 EHo$ar (Single) 
(3)	 Mm¡nXar (Quadruple)	 (4)	 {Vhoar (Triple)

�� Class Gastropoda include snails with ....... valved shell.
(1)	 Double	 (2)	 Single 
(3)	 Quadruple	 (4)	 Triple

80.	 OmoS>çm bmdm :
(a)	 hmobmoQ>mB©n 	 (i)	 Á`mdoir Zm°‘oZŠboMab Q>mB©n hadVmo 
(b)	 b°ŠQ>moQ>mB©n	 (ii)	 ‘yi Zm°‘oZŠboMab Q>mB©n 
(c)	 {ZAmoQ>mB©n	 (iii)	 Á`mdoir hmobmoQ>mB©n hadVmo 
(d)	 Am`gmoQ>mB©n 	 (iv)	 hmobmoQ>mB©nMm Sw>ßbrHo$Q>
n`m©`r CÎmao :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (iii) 	 (i) 	 (iv)
(2)	 (iii)	 (ii) 	 (i) 	 (iv) 
(3)	 (iv) 	 (iii) 	 (i) 	 (ii) 
(4)	 (ii)	 (iii)    (iv)    (i)

�� Match the following: 
(a)	 Holotype	 (i)	 When nomenclatural type is 
				    missing 
(b)	 Lactotype	 (ii)	 Original nomencla tural type 
(c)	 Neotype 	 (iii)	 When holotype is missing 
(d)	 Isotype 	 (iv)	 Duplicate of holotype 
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Answer options :
	 (a) 	 (b) 	 (c)	 (d) 
(1)	 (ii) 	 (iii) 	 (i) 	 (iv)
(2)	 (iii)	 (ii) 	 (i) 	 (iv) 
(3)	 (iv) 	 (iii) 	 (i) 	 (ii) 
(4)	 (ii)	 (iii)    (iv)    (i)

81.	 nmbme ho ‘hËdmMo nmofH$Ðì` dZñnVtÀ`m dmT>rgmR>r 
Imbrbn¡H$s H$m`© H$aVo :
(1)	 nmUr d jmam§Mo emofU dmT>{dVo.
(2)	 Am°aJ°{ZH$ A°grS>À`m M`mnM` {H«$`oV ^mJ KoVo.
(3)	 AZoH$ g§àoaH$m§Zm H$m`m©pÝdV H$aVo.
(4)	 darbn¡H$s gd© n`m©`.

�� Potassium is very important nutrient for plant 
growth, because :
(1)	 the entry of water along minerals is improved
(2)	 it is involved in organic acid metabolism
(3)	 it is a activator of many enzymes
(4)	 all of the above

82. 	 dZñnVtÀ`m e|JmYmar Hw$imVrb ‘wim§À`m JmR>r‘Ü`o a§JÐì`o 
AgVmV, Á`m‘wio ZÌmMo pñWarH$aU hmoVo, Ë`m a§JÐì`mg  
H$m` åhUmdo?
(1)	 AÝWmogm`mZrZ	 (2)	Šbmoamo’$sb 
(4)	 {h‘mo½bmo~rZ	 (3)	boJ{h‘mo½bmo~rZ

�� Root nodules of leguminose plant contains colour 
pigment responsible for nitrogen fixation which is 
called as ..........
(1)	 Anthocyanin	 (2)	 Chlorophyll
(3)	 Leghaemoglobin	 (4)	 Haemoglobin

83.	 Imbrbn¡H$s H$moUVo ‘ybÐì` pìhQ>°{‘Z ~r-12 `m 
OrdZgËdmMm KQ>H$ Amho?
(1)	 ‘mo{bãS>oZ‘² 	 (2)	H$mo~mëQ> 
(3)	 ‘±JoZrO	 (4)	H$m°na 

�� Which of the following elements is component of 
Vitamin B12 molecule? 
(1)	 Molybdenum 	 (2)	 Cobalt 
(3)	 Manganese 	 (4)	 Copper

84.	 BÝ’o$pŠe`g {hn°Q>mBQ>rg gm‘mÝ`V… {dð>m-Vm|S>mdmQ>o AÞ, 
no` qH$dm eob‘mgm, Omo àXy{fV nmÊ`mV amhVmo d Á`mÀ`m 
nMZg§ñWo‘Ü`o {dfmUy AgVmo, `m§À`m‘wio àgm[aV hmoUmam 
amoJ Amho. Imbrbn¡H$s H$moUVm {dfmUy `m amoJmg H$maUr^yV 
AgVmo Vo {bhm. 
(1)	 {hn°Q>mBQ>rg E {dfmUy	 (2)	 {hn°Q>mBQ>rg ~r {dfmUy 
(3)	 {hn°Q>mBQ>rg Or {dfmUy	 (4)	 {hn°Q>mBQ>rg gr {dfmUy

�� Infectious hepatitis is usually transmitted by fecal-
oral contamination of food, drink or shellfish that 
live in contaminated water and contain the virus in 
their digestive system. Name the causative agent of 
this disease from the following.
(1) 	 Hepatitis A Virus	 (2)	 Hepatitis B Virus

(3)	 Hepatitis G Virus	 (4)	 Hepatitis C Virus

85.	 Imbrbn¡H$s H$moUVr dmŠ`o ~amo~a AmhoV?
(a)	 ~waer noQ´mobMo {dKQ>Z H$aÊ`mg H$maUr^yV AgVo. 
(b)	 gyú‘Ord YmVwMo {dKQ>Z H$ê$ eH$VmV. 
(c)	 {OdmUy d ~waer ßbmñQ>rH$Mo {dKQ>Z H$aUmao KQ>H$ AmhoV. 
(d)	 {OdmUy gm¢X`© àgmYZm§Mo {dKQ>Z H$ê$ eH$V ZmhrV.
n`m©`r CÎmao : 
(1)	 (a), (d) 	 (2)	 (a), (b), (c) 
(3)	 gd©		  (4)	EH$hr Zmhr

�� Which of the statements given below is/are correct?
(a)	 Fungi are responsible for deterioration of petrol. 
(b)	 Microorganisms can deteriorate metals.
(c)	 Bacteria and Fungi are agents for deterioration of 

plastic.
(d)	 Bacteria are unable to deteriorate cosmetics. 
Answer options : 
(1)	 (a), (d) 	 (2)	 (a), (b), (c) 
(3)	 All		  (4)	 None

86.	 nwT>o {Xboë`m {dYmZmZ§Va I d II `m H«$‘m§H$m§Mr J¥hrVHo$ {Xbr 
AmhoV. J¥hrVH$ åhUOo Vgo H$mhr ‘mZyZ d Yê$Z MmbUo. Vwåhr 
{dYmZ dm J¥hrVH$ {dMmamV KoD$Z H$moUVo/H$moUVr J¥hrVHo$ 
{dYmZmV A§V{Z©{hV (AàË`j gy{MV) Amho/AmhoV `mMm 
{ZU©` ¿`m : 
{dYmZ : a‘oeMm C‘oebm g„m-VwÂ`m OrdZmV `eñdr 	

   hmoÊ`mgmR>r Iyn H$ï> H$a. 
J¥hrVHo$ : (I)  C‘oe a‘oeMm g„m EoH$Vmo.
	    (II)  OrdZmV `eñdr hmoUo Bï> Amho. 
n`m©`r CÎmao : 
(1)	 J¥hrVH$ (I) A§V{Z©{hV Amho. 
(2)	 J¥hrVH$ (II) A§V{Z©{hV Amho. 
(3)	 (I) dm (II) A§V{Z©{hV Amho. 
(4)	 XmoÝhr J¥hrVHo$ (I) Am{U (II) A§V{Z©{hV AmhoV. 

�� A statement is given below followed by two 
assumptions numbered I and II. An assumption is 
something supposed to be or taken for granted. You 
have to consider the statement and assumptions 
and decide which of the assumptions is/are implicit 
(indirectly suggested) in the statement. 
Statement :   Ramesh advises Umesh - work hard to 	

	     be successful in your life.
Assumptions : (I) Umesh listens to Ramesh's advice.
                           (II) Being successful in life is desirable. 
Answer options : 
(1) 	 Assumption (I) is implicit. 
(2)	 Assumption (II) is implicit. 
(3) 	 Either (I) or (II) is implicit. 
(4) 	 Both Assumptions (I) and (II) are implicit.

87.	 M, T, J, R, D, W Am{U Q `m ì`º$s A, B Am{U C `m 
JmS>çm§VyZ àdmg H$aV AmhoV. àË`oH$ JmS>rV {H$‘mZ XmoZ ì`º$s 
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AmhoV. `mV VrZ ‘{hbm AgyZ àË`oH$ JmS>rV EH$ ‘{hbm Amho. 
T ̀ m ì`{º$bm ’$º$ Q ̀ m ì`{º$~amo~aM àdmg H$am`Mm Amho d 
Ë`m B JmS>rVyZ àdmg H$aV AmhoV. M hr ì`º$s A `m JmS>rVyZ 
àdmg H$aV Amho. D Am{U W ̀ m ì`º$s C JmS>rVyZ àdmg H$aV 
ZmhrV. J hr ì`º$s ‘{hbm Zmhr Va W hr ì`º$s ‘{hbm Amho. 
Va J hr ì`º$s H$moUË`m JmS>rVyZ àdmg H$aV Amho?
(1)	 A 		  (2)	 B 
(3)	 C	 	 (4)	`mn¡H$s EH$hr Zmhr 

�� Persons M, T, J, R, D, W and Q are travelling by 
cars A, B and C. At least two persons are occupying 
each car. Among them three are women and there 
is one woman in each car. Person T wants to travel 
only with Q and they are travelling in car B. Person 
M is travelling in car A. Persons D and W are not 
travelling in car C. J is not a woman and W is a 
woman. Then by which car person J is travelling? 
(1)	 A		  (2)	 B 
(3)	 C		  (4)	 None of these

88.	 gmo~VÀ`m AmH¥$VrV H$moUË`mhr bJVÀ`m {j{VOg‘m§Va Am{U 
{j{VOb§~ Agboë`m XmoZ {R>nŠ`mVrb A§Va 1 EH$H$ Amho. 
{nH$À`m {gÕm§VmZwgma Oa ~hþ^wOmÀ`m gr‘odarb q~Xy§Mr 
g§»`m B Agob Am{U ~hþ^wOmÀ`m gr‘oÀ`m AmVrb q~Xy§Mr 
g§»`m I Agob Va ~hþ^wOmMo joÌ’$i 1+ B/2 -1 BVHo$ 
AgVo. Vwåhmbm gyÌm~m~V ImÌr Agob Va {Xboë`m n`m©`mVyZ 
~hþ^wOmMo joÌ’$i dJ© EH$H$mV {ZdS>m.

(1)	 15	 (2)	 16	 (3)	 17	 (4)	 18
�� In accompanied diagram distance between any adjacent 

dots horizontally and vertically is 1 unit. According to 
Pick's theorem if B is the number of dots on the boundry 
of the polygon and I is the number of dots in the interior 
of the polygon, then area of the polygon is given by 1+ 
B/2 - 1. Select the area in square units of the polygon 
from given options. If you are sure about the formula.

(1)	 15	 (2)	 16	 (3)	 17	 (4)	 18

89.	 gmo~VÀ`m añË`mÀ`m ZH$memMm Aä`mg H$am Am{U X Vo Y 
n`ªV H$moUË`mhr q~Xybm XmoZXm ñne© Ho$ë`m{edm` eŠ` 
AgUmao gd© eŠ` ‘mJ© Xe©dUmam n`m©` {ZdS>m

XmoZ ~mU Agbobo dH«$ d aofm XmoZ {Xem ‘mJ© XmIdVmV

x Y

(1)	 5	 (2)	 7 	 (3)	 9	 (4)	 11 
�� Study accompanied road map and select the option 

that indicates all possible routes from X to Y without 
touching a point twice. 
Curves and lines with two arrows indicate two way
routes

x Y

(1)	 5	 (2)	 7 	 (3)	 9	 (4)	 11 

90.	 nwT>o H¥${Ì‘ ^mfoVyZ {dg§Ho$VrV Ho$bobo eãX {Xbo AmhoV. 
chikerkurrip åhUOo birdhouse; phyckurrip åhUOo 
bluebird d phycbrell åhUOo bluebell. houseguest hm 
eãXmMm H¥${Ì‘ ^mfoVrb g§Ho$V {ZdS>m. 
(1)	 dropchiker 	 (2)	 chikerrdrop 
(3)	 chickerrphyc 	 (4)	 bellchicker 

�� Given below are some words decoded from 
artificial language. chikerkurrip means birdhouse; 
phyckurrip means bluebird and phycbrell means 
bluebell. Select the code for houseguest in this 
artificial language. 
(1)	 dropchiker	
(2)	 chikerrdrop 
(3)	 chickerrphyc	
(4)	 bellchicker

91.	 gmo~VÀ`m g§MmVyZ ~mUm§Mm {dg§JV g§M {ZdS>m.

(1)

	 	

(2)

	

(3)

	 	

(4)
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�� Select odd set of arrows from accompanied sets.

(1)

	 	

(2)

	

(3)

	 	

(4)

	

92.	 nwT>o {Xboë`m ‘m{bHo$À`m g§X^m©V H$moUVo Aja EH$m AjamÀ`m 
S>mdrH$Sy>Z Xwgao Amho Oo EH$m Ajambm COdrH$S>o bmJyZ Amho 
Oo EH$m AjamÀ`m S>mdrH$Sy>Z Mm¡Wo Amho Oo E AjamÀ`m 
S>mdrH$Sy>Z {Vgè`m Agboë`m Am{U H  AjamÀ`m COdrH$Sy>Z 
Xwgè`m Agboë`m AjamÀ`m ‘Ymo‘Y Amho.
ABCDEFGHIJ
(1)	 J	 (2)	 D	 (3)	 H	 (4)	 A

�� What letter comes second to the left of letter that is 
immediately to the right of letter that comes four 
to the letter that comes midway between the letter 
third to the left of letter E and the letter two to the 
right of letter H, with respect to following sequence?
ABCDEFGHIJ
(1)	 J	 (2)	 D	 (3)	 H	 (4)	 A

93.	 EH$m KZmMr n¥ð>o nwT>rb XmoZ AmH¥$VrV XmIdë`mà‘mUo 
ghm {^Þ a§Jm§Zr a§Jdbobr AmhoV. {Zù`m a§JmZo a§Jdboë`m 
n¥ð>mg‘moarb n¥ð>mMm ImÌrZo Agbobm a§J {ZdS>m.

(1)	 nm§T>am qH$dm bmb	

(2)	 bmb qH$dm nm§T>am qH$dm Zma§Jr
(3)	 ’$º$ Zma§Jr
(4)	 ’$º$ nm§T>am

�� Surfaces of the cube are coloured with six different 
colours as shown in following figures. Select the 
colour of the surface that is definitely opposite to 
blue coloured surface.

(1)	 White or Red
(2)	 Red or White or Orange
(3)	 Only Orange	 (4)	 Only White

94.	 EH$m ^º$mOdi H$mhr a¸$‘ hmoVr. ‘mJm©VyZ OmVmZm {VZo Mma 
Xodim§Zm ^oQ>r {Xë`m. Ooìhm Vr àË`oH$ XodimV nmD$b R>odVo 
Voìhm {VÀ`mH$S>Mr a¸$‘ XwßnQ> hmoVo Am{U Vr àË`oH$ XodimV  
< 100 XoVo. Ooìhm Vr Mm¡Ï`m XodimVyZ naVbr Voìhm {VÀ`mH$S>o 
H$mhrhr n¡go Cabo ZmhrV. Ë`m ̂ º$mOdi gwédmVrbm Agbobr 
a¸$‘ XmIdUmam n`m©` {ZdS>m. 
(1)	 93.75	 (2)	92.75  (3)	 90	 (4)	 91.50 

�� A devotee had some amount with her. She visited 
four temples on her way. As soon she steps inside 
each temple whatever amounts that is with her gets 
doubled and she offers  < 100 in each temple. When 
she returns from the fourth temple no money is left 
with her. Select the option that indicates the initial 
amount that devotee had with her. 
(1) 	 93.75	 (2)	 92.75 	 (3)	 90	 (4)	 91.50

95.	 Am¶oem d {VÀ`m Zdè`mZo H$mb Ë`m§Mo eoOmar Agboë`m XmoZ 
{^Þ qbJr OmoS>ß`m§Zm BâVma ‘oOdmZrMo {Z‘§ÌU {Xbo hmoVo,  
Vo gd©OU dVw©imH$ma ~gbo hmoVo d ‘Ü`^mJr AÞ R>odbo  
hmoVo. B©emZo Vwåhmbm nwT>rb VÏ`o gm§{JVbr AmhoV : S°>Zr EH$m 
órÀ`m S>mdrH$S>o ~gbm Amho Or EH$m nwéfmÀ`m S>mdrH$S>o 
~gbr Amho, Omo AZwÀ`m S>mdrH$S>o ~gbm Amho. B©em EH$m 
nwéfmÀ`m S>mdrH$S>o ~gbr Amho Omo EH$m órÀ`m S>mdrH$S>o 
~gbm Amho Or EH$m nwéfmÀ`m S>mdrH$S>o ~gbr Amho Omo  
EH$m órÀ`m S>mdrH$S>o ~gbm Amho Or ‘mÂ`m Zdè`mÀ`m 
S>mdrH$S>o ~gbr Amho. {XZy EH$m órÀ`m S>mì`m ~mOybm ~gbm 
Amho Or amOmÀ`m S>mdrH$S>o ~gbr Amho. ‘r ‘mÂ`m ZŠ`mÀ`m 
eoOmar ~gbobr Zmhr. 
{Xboë`m n`m©`m§VyZ ‘mÂ`m Zdè`mMo Zmd {ZdS>m - 
(1)	 BVa {ó`m Ë`m§À`m Zdè`m§À`m eoOmar ~gë`m AmhoV dm 

ZmhrV `mMr ‘m{hVr Amdí`H$ Amho 
(2)	 amOm 
(3)	 {XZy 		  (4)	 S°>Zr 

�� Yesterday, Aisha and her husband, had invited, two 
couples with different sex, their neighbours, for Iftar 
party. They all sat in a circle and food is placed in the 
centre. Aisha gave you following facts : Dany sat to the 
left of the woman who sat to the left of a man who sat 
to the left of Anu. Esha sat to the left of the man who 
sat to the left of the woman who sat to the left of the 
man who sat to the left of the woman who sat to the 
left of my husband. Dinu sat to the left ol woman who 
sat to the left of Raja. I did not sit beside my husband. 
Select the name of my husband from options. 
(1)	 It is necessary to know whether other women are 

sitting beside their husbands or not 
(2)	 Raja		
(3)	 Dinu 		 (4)	 Dany
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96.	 Oa X `m nmaXe©H$ H$mJXmMr AmH¥$Vr Agbobr KS>r KmbyZ 
XmI{dë`mà‘mUo AmH¥$Vr {‘iV Agob Va Vr nyU©nUo 
CbJS>ë`mZ§Va H$er {Xgob?

X

(1)

	 	

(2)

	

(3)

	 	

(4)

	

�� If the transparent paper sheet X with figure on it is 
folded to get fold with figures as shown, how would 
it look like when it is unfolded completely?

X

(1)

	 	

(2)

	

(3)

	 	

(4)

	

97.	 lr gd©{à` ho AmR>dS>çmÀ`m EH$m {d{eï> {Xder Cndmg 
H$aVmV Am{U ’$º$ Ë`m {Xder gË` ~mobVmV. BVa gd© 
{Xder Zoh‘r ImoQ>o ~mobVmV. nmR>monmR> `oUmè`m VrZ {Xdgm§V 
Ë`m§Zr nwT>rb {dYmZo Ho$brV : 
{Xdg 1 : ‘r gmo‘dmar Am{U ‘§Jidmar ImoQ>o ~mobVmo. 
{Xdg 2 : AmO Jwédma, a{ddma qH$dm e{Zdma Amho. 
{Xdg 3 : ‘r ~wYdmar Am{U ewH«$dmar ImoQ>o ~mobVmo. 
lr gd©{à` Á`m {Xder ’$º$ gË` ~mobVmV Ë`mMr {ZdS> H$am.
(1)	 gmo‘dma 	 (2)	‘§Jidma 
(3)	 ~wYdma		 (4)	ewH«$dma 

�� Shree Sarvapriya observes fast on the particular 
day in a week and speaks truth only on that day. 
On all other days he speaks always lies. He made 
following statements on three successive days : 
Day 1: "I lie on Monday and Tuesday."
Day 2: "Today is Thursday, Sunday or Saturday." 
Day 3: "I lie on Wednesday and Friday." 
Select the day on which Shree Sarvapriya speaks
truth only. 
(1)	 Monday 	 (2)	 Tuesday 
(3)	 Wednesday 	 (4)	 Friday

98.	 gmo~VÀ`m H$mJXmMr KS>r KmbyZ V`ma H$aUo eŠ` Amho Aem 
à{V‘m§Mr {ZdS> H$am :

n`m©`r CÎmao :
(1)	 (a), (b)	 (2)	 (c), (a) 	 (3)	 (c), (d)	(4)	 (c), (b)

�� Select image/s that can be composed by folding 
accompanying paper sheet :

Answer options :
(1)	 (a), (b)	 (2)	 (c), (a)	 (3)	 (c), (d)	 (4)	 (c), (b)

99.	 Oa AmO gmo‘dma, 1 Am°JñQ> Amho Am{U lmdUmMm n{hbm {Xdg 
Amho Va CÚmnmgyZ 29 ì`m {Xder H$moUVm {Xdg d ‘{hZm ̀ oUma?
(1)	 ‘§Jidma, lmdU	 (2)	‘§Jidma, ^mÐnX
(3)	 gmo‘dma, lmdU	 (4)	~wYdma, ^mÐnX

�� If today is Monday, August 1st and 1st day of Shravan 
then which day and month will come on 29th day 
from tomorrow?
(1)	 Tuesday, Shravan	 (2)	 Tuesday, Bhadrapad
(3)	 Monday, Shravan	 (4)	 Wednesday, Bhadrapad

100.	 EH$ ZXr CÎmaoH$Sy>Z X{jUobm dmhVo Amho. `m ‘mJm©V Vr 
S>mdrH$S>o diVo d Q>oH$S>r^modVr AY©dVw©i H$aVo Am{U Z§Va 
S>mdrH$S>o H$mQ>H$moZ H$ê$Z diVo d dmhÿ bmJVo. `m {R>H$mUr 
ZXr H$moUË`m {XeoZo dmhVo Amho? 
(1)	 CÎma	 (2)	 X{jU 	 (3)	 n{íM‘	 (4)	 nyd© 

�� A river flows from north to south. On the way it 
turns left and go in semicircle round hillock and 
then it turns left at right angle and continues to flow. 
In what direction the river is flowing at this point ?
(1)	 North	 (2)	 South 	 (3)	 West 	 (4) 	 East

 
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Ans 1 2 3 4 5 6 7 8 9 10

1 3 1 4 4 2 4 2 3 1 4

11 1 1 2 # 1 4 2 1 3 4

21 3 3 1 2 1 1 2 2 3 #

31 2 2 1 4 4 3 1 3 # 3

41 2 4 3 4 2 2 3 2 1 1

51 3 3 2 2 3 4 4 1 3 2

61 4 2 3 1 4 4 3 3 3 4

71 3 4 3 2 4 1 4 4 2 1

81 4 3 2 1 2 # 3 3 4 2

91 3 4 # 1 2 2 2 # # 2

# Zo Xe©{dcoë¶m àíZ aÔ H$aÊ¶mV Amcoco AmhoV. 

STI - nyd© narjm 2016 CÎmao


